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Abstract

Let {a; ;} be real numbers for 0 <¢ <7 —1and 1 < j < 2, and define a sequence
{v,} with initial conditions vg, v; and conditional linear recurrence relation v, =
At1Un—1 + At 2Un—2 where n = t(mod r) (n > 2). The sequence {v,} can be
viewed as a generalization of many well-known integer sequences, such as Fibonacci,
Lucas, Pell, Jacobsthal, etc. We find explicitly a linear recurrence equation which is
satisfied by {v,}, generating functions, matrix representations and extended Binet’s
formulas for {v,,} in terms of a generalized continuant.

1. Introduction

The Fibonacci sequence is a sequence of integers in which each subsequent term
is the sum of the two preceding it starting with 0 and 1. The so-called Fibonacci
numbers appeared in the solution of a problem by Leonardo Pisano, in his book
Liber Abaci (1202), concerning reproduction patterns of rabbits. Now, this se-
quence appears in many areas of mathematics. The Fibonacci sequence has been
generalized in several directions, namely, by changing the initial values, by mixing
two sequences, by demanding that the numbers in the sequences not be integers,
and by having more than two parameters; see [6, 8, 10, 11, 12, 13, 14, 15, 16, 20, 21].

1The authors are partially supported by NSERC of Canada. Qiang Wang is also partially
supported by National Natural Science Foundation of China (Grant No. 61170289).
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Yet another extension of the Fibonacci sequence is given in [4] as follows. Let
ag,ai, . ..,a,—1 be real numbers; define a sequence {q, }, with initial values go = 0
and ¢ =1, and for n > 2,

aoGn—1 + gn—2, if n =0 (mod r),
a1Gn—1 + qn-2, ifn=1(mod r),

qn = . .
Gr—1Gn—-1 + Gn-2, ifn=r—1(mod r).

It remained as an open problem in [4] to find a closed form for the generating func-
tion, and to obtain a Binet-like formula for {¢,}. Later on, the sequence {g,} was
studied in [3], where it was called k-periodic Fibonacci sequences (here k corresponds
to our r), and the open problem was solved. Independently, in [17] and [19], one of
the authors of this paper solved this open problem by using continuants while also
introducing a matrix representation for the sequence {g,}.

We now introduce a new sequence {v,} that is a generalization of the sequence
{¢n}. Let {a;;} be real numbers for 0 < i < r—1and 1 < j < 2, and define a
sequence {v, } with initial conditions vg, v1, and for n > 2,

a0,1Vn—1 + Q0,2Un—2, if n =0 (mod r),
a1,1Vn—1 + Q1 2Up—2, ifn=1(mod r),
Ar—1,1Vn—1 + Gr_1,2Vp_2, ifn=r—1 (mod T‘) .

We call {v,} a Fibonacci-like conditional sequence.

We can get a great number of different sequences by providing the values of
r,a;; and the initial values in the sequence {v,}. The following are some examples
of sequences which are special cases of {v,}. We note that some of the following
examples are given with the a reference number to Sloane’s On-Line Encyclopedia
of Integer Sequences. Let us assume initial values vg = 0 and v; = 1.

1. If we take a;; = 1for 0 < ¢ <r—1and 1 < j < 2, we get the classical
Fibonacci numbers.

2. If we take a;; =1 and a;2 =1 for 0 <7 < r — 1, we get Pell’s sequence.
3. If we take a; 1 = Kk and a; 2 = 1 for 0 < i < r—1, we get k-Fibonacci numbers.
4. If we take r =2, ap,1 = a12 =1 and a1,1 = ag2 = 2, we get [A005824]

5. If we take r = 2, ap,; =2 and ap2 = a1 = a12 = 1, we get [A048788]. The
terms of the sequence are numerators of the continued fraction convergent to

V3-—1.
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6.

10.

11.

12.

13.

14.

If we take 7 = 2, ap1 = ag2 = 1 and a11 = a12 = 2, we get [A001045]
(Jacobsthal sequence).

If we take r = 3 and (ag1,a0,2,01,1,01,2,02,1,a622) = (1,1,0,1,1,1), we get
[A097564].

If we take r = 3 and (ag1,a0,2,a1,1,01,2,02,1,a22) = (1,1,1,0,0,0), we get
[A117567] which gives Riordan arrays.

If we take r = 3 and (a071, ap,2,01,1, 01,2, a2717a272) = (0, 1, 1, 17 1, 1), we get
[A092550] which is the two-steps-forward and one-step backwards Fibonacci-
based switched sequence inspired by Per Bak’s sand piles.

If we take r = 3 and (ag1,a0,2,01,1,01,2,02,1,a622) = (2,0,2,1,2,0), we get
[A004647).

If we take r = 3 and (ao,1,a0,2,a1,1,01,2,02,1,622) = (2,0,1,1,1,1), we get
[A133335].

If we take » = 2 with ag2 = a1,2 = 1 and any nonzero real numbers ag; and
ai 1 we get generalized Fibonacci sequences [4].

If we take a;2 =1 for 0 < ¢ < r — 1 with any nonzero real numbers a; 1, we
get the sequences studied in [3, 17, 19].

If we take r = 2 and real numbers a; ;, not all zeros, we get the sequences
defined in [18].

Next we give the structure of the paper. In Section 2, we introduce the concept
of the generalized continuant and the generalized continued fraction, we make a
connection between them and we find explicitly a linear recurrence relation which is

satisfied by {v, } for any given integer r > 2. In Sections 3 and 4, we find generating
functions, matrix representations and extended Binet’s formulas for {v,} in terms
of a generalized continuant. Conclusions and further work are given in Section 5.

2. Linear Recurrence of {v,}

Continuants are a sequence of polynomials extensively studied by Euler. They are
defined by the following recurrence

Ko() = 1
Ki(xz1) =

Kn(xly"';zn) - Kn—l(xla-'-axn—l)xn+Kn—2(x17~'-axn—2)-
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It is well known that continuants are the key to the study of continued fractions
like

1
ap + i
Qp—1 + 1
ap—2 +
+
ao
Indeed, the above continued fraction is equal to
K (lln, An—1,. .. 7a0)
K (an717 Ap—2,. - 70/0)

We refer to pages 301-309 in [5] for detailed information about the continuant.
Let us consider a generalization of continued fractions of the form

an,2
n,1 + n_1,2
Gn—1,1 + a
’ n—2,2
Qp—21 +
+
a2
ap,1
. —
and denote it by [an1,0n-11,. .. ,a071}? where b = [an2,0n-1,2;...,01,2] for any

_
positive integer n. If we take b = [1,1,...,1] then we get the classical continued

fraction. For example, let us take [1,2,1,1,2, 1] where b = [1,1,2,1,1]; then

1 17

1 = — .

PR — 12
T

1+ —

924 =
+1

We associate this generalized continued fraction with the following Fibonacci-like
sequences

[1,2,1,1,2,1]5 =1+

) ) ) ) 3

An—l + 2An_2, ifn=0 (mod 3) ,
A, =1 24,1+ A,_o, if n=1(mod 3), Ap =1and A; = 3,
Ap_1+ Ao, if n =2 (mod 3),
and
Bn—l + Bn_Q, ifn=0 (mOd 3) 5
B,={ B,_1+2B,_s, if n =1 (mod 3), Byg=1and B; = 1.
2B, 1+ Bp_o, if n =2 (mod 3),
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17 A5 -
Here, [1,2,1,1,2,1]5 = i B, where b = [1,1,2,1,1]. The sequences {A,}
and {B,} correspond to a generalized continuant; explanation of the mathematical
background of this example is forthcoming.
In order to study the general conditional sequences introduced in Section 1, we
now introduce a generalized continuant with an input of two-dimensional arrays

{a; ;14,5 >0}

Definition 1 (Generalized Continuant). Let K () = 1, K (a; ;) = a;;, where
1,j are nonnegative integers, and for n > 2,

K (anjsGn_1j,- - 0ix1,j,05;5)

= az-,jK (a,w', Ap—1,5y- -+ a'H—Lj) =+ ai+17j+1K (amj, Ap—1,5y- -+ ai+27j) .
For example, let us suppose that
[ao,l,...,a571] = [1,2,1,1,2,1] and [ao,g,...,a572] = [2,1,1,2,1,1],

then we can obtain K(as1,...,a0,1) = 34 and K(as1,...,a01) = 24. We em-
phasize that the definition of K depends on both input sequences. For example,
let [bo1,...,b51] = [1,2,1,1,2,1] and [bo2,...,bs2] = [2,1,1,1,2,2]. Although
[b5,1,b4,1,b3’1] = [bg’l,blyl,bo’l] = [1,2, 1], we still have K(b5,1,b4’17b3’1) =6 7'5
K(bZ,la b171, bO,l) = 4 because [b572, b472, b372} 7é [b272, bLg, 6072].

We note that this generalized continuant satisfies the following identity which
can serve as an alternative definition.

Theorem 2. For a positive integer n > 1, and 0 < k < n — 1, the generalized
continuant satisfies

K (ani,an—1,1,-.,0k1) = an 1 K (an_11,...,051) + an 2K (an—21,...,ax,1)-

Proof. We shall prove the formula by induction on the length of the generalized
continuant. By the definition of the continuant (Definition 1), we can write

K (ak41,0,081) = ap1K (ak41,1) + akgr2
= Qk10k+11 + Ght12 = ap+11K (ag1) + aps10-

Hence it is true for the base case (length 2), that is simply the case n = k + 1. Let
us assume now that the formula holds for the generalized continuant of the above
form of length less than or equal to m (that is, n = m + k — 1). If we use the
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definition of continuant and the hypothesis of induction, we get

K (@mtk1s Gmtk—1,15-- - 0k,1)

= 1K (@mtk1, Cmtk—1,15- - Qk+1,1)
+ak+12K (@mtk1, Cmtk—1,15- - Qk+2,1)

= ar1 (@mtk 1 K (@mak—115- - 0k41,1) FOmak 2K (Qmtk—21, ..., k+1,1))
+art1.2 (@mtr 1 K (Qmak—115- -, 0k42.1) TOmtk 2K (Gmtk—2.1,- .., k42,1))

= Gmtk,1 (@61 K (@mak—115 - Qg1,1) F0pt1,2K (@mgr—1,1,- .., Qkt+2,1))
Famik2 (@61 K (Gmgk—215- ) 0kt1,1) Faht1,2K (Gmik—215- -+, Qky2,1))

= mt+k1 K (@mak—11,--s001) + Ok 2K (@Gmik—21,---,0%1) -

O

Similar to the classical continuant, by mathematical induction we can easily

establish the following connection between the generalized continuant and the gen-
eralized continued fraction.

Theorem 3. For any positive integer n,

K (an1,an-1,1,---,00,1)
K (an—l,la Ap—2,15- -+, ao,l) ’

[an,h Qp—1,15--- 7040,1]? =

N
where b = [an,2,an-12,...,01,2).
Proof. First we observe that the result is true for n =0 and n =1,

K (ap1) a2 K(ai,1,001)
= 7 d " =~ 2 7
R O K (ao,)
by the definition of the generalized continuant. Assume that the statement of the
theorem holds for n. By using hypothesis of the induction and Theorem 2 (taking
k=0), we get

[an+1,1> an,la cee 70/0’1]17_1)
Ap+41,2
= Gp+11+
[an,la anfl,la sy ao,l]g
an+1,2
= Qp41,1t+
K (an71, an_Ll, ey aovl)
K (apn-1,1,0n-21,--.,00,1)
 any11K (ang, 0011, ,001) Fany12K (an_11,00-21,...,001)
K (ani,an-1,1,---,00,1)
K (anti1,1,0n,1,5---,00,1)

K (an,la an—l,h ey aO,l)
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— —
where b1 = [an+172, An 2y -y a172] and b2 = [amg, Gn—1,2--- ,0,1,2]. O
. . . -
For a continued fraction [an, 1, Gn-1,1,- .-, ao,1]g with b = [ap2,an-1,2,--.,01,2],
K (an1,an-1,1,---,00,1)
the convergents are

K (an-1,1,an-21,-..,00,1)

aop,1 @p,101,1 +012 d2.1 (ag,1a1,1 + a12) + az2 (ao,1)
1’ ao,1 ’ a1 (ap1) +aiz

PIIIR

If successive convergents are found, with numerators Ay, A1, As, ... and denomina-
tors By, By, Bo, ..., then the relevant recursive relations are

Ao =ag1, Ar =aia01 +a12 and A, =a, 14,1 +an2A,_2 for n>2,
and
B(J = 1, B1 = ap,1 and Bn = an,Lan,l + an,l,an,g for n Z 2.

Let us define, for given positive integer r,

(1) _

K" = K(ai1,0i-1,1,0i—21-.,01,1,00,1,Qr—1,1,--sGi+2,1,%iy1,1), and
(1)  _

K" = K(Gi—1,1,0i-2,1,0i—31,-+,01,1,00,1, Gr—1,15- -, Qi42,1) ,

where as usual 7 is taken modulo r.

Theorem 4. We have, fori=0,...,r —1,
i i i+1 i+1
K+ a oKy = KUY a0 k5.

Proof. By Theorem 2,

i+1)
Kf = K(ai+1,17a¢,1, .. -aai+3,laai+2,1)
= ai+1,1K (ai,la sy @431, ai+2,1) + ai+1,2K (aifl,la Aj—2 1y« ai+2,1) .
: (i+1)
Since K =K (ai1,0i—1,1,---,0ita,1,0i+3,1), We get

(i+1) (i+1)
K777 4 aige2 K,
= aip11K (a1, ..., 0431, 0i42,1) + Giv1,2K (Gi—1,1,0i—2.1, .-, Git2,1)

taiv22K (ai1,ai-1,1,- -+, Giya 1, aits1) - (2)
By the definition of the continuant,

(&) _
K7 = K(ai1,0i-1,1,---,0i+2.1,0+1,1)
= ai+1,1K (ai,ly Ai—1,15++-5,00,1,r-1,15-- -, ai+2,1)

+ai+2,2K (ai,l, Ai—1,1y+--,00,1,Qr—1,15--- 7ai+3,1) s
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: (2)
and since K2 =K (ai_lyl,ai_g,l, ceey 431, ai+271), we get
(2) (2)
K7+ aip12K;
= az‘+1,1K (az’,h Qi—1,15--- 7a'i+2,1) + CL¢+2,2K (ai,la Aj—1,19- > az‘+3,1)
+ait1,2K (@i—1,1,0i—2,1, -+, G431, Qit2,1) - (3)

Thus, using (2) and (3), we get Kfi) + ai+1,2K2(i) = K{Hl) + ai+272K2(i+1), for
1=0,...,7r—1. O
Let us define K; = Kfo) and Ky = Kéo). By Theorem 4, we can write
KY) +ai+1,2K§i) :K1 —‘ra,l,gKQ, forz’:O,...,r—l.

The following theorem extends results in [2]. The author of [2] provides a combi-
natorial description; here, we give our results in terms of the generalized continuant.

Theorem 5. For any n > 2r, the sequence {v,} satisfies the following 2r-order
linear recurrence

vp = (K1 + a12K9) vy + (=1)"T (a9 201 2a2 2.0, 1.2) Uy 2.
Proof. By the definition of the sequence {v,}, we have
Umr+i = @i, 1Vmr+i—1 + @i 2Vmr+i—2 = K (ai,l) Umr+i—1 + ai,QK () Umr+i—2-
If we substitute vypr4i—1 = @i—1,1Vmr+i—2 +Gi—1 2Umr+i—3 in the above equality and
rearrange it, we get
Umrti = (@3,10i—1,1 + @5,2)Vmrti—2 + Gi—1,201Vmr+i—3

= K(ai1,0i-1,1) Vmrt+i—2 + 6i—1,2K (@i1) Umrti—s-
If we proceed in this way, we obtain

Umrti = K (ai1) Vmrgio1 + @i 2K () Umrgi—2
= K(ai1,0i-1,1) Vmrti—2 + ai—1,2K (0:,1) Vmrti—3

= K (ai,l,ai—l,lyai—Q,l) Umr+i—3 T ai—z,zK (ai,laai—l,l)vmr—Al

= K (az‘,h Ai—1,1y---,042.1, ai+1,1) Umr4i—r

+air1,2K (@1, @11, - -y i42.1) Umpti—r—1
- K® o+ i1 2K (ai 1, a5 4 , (4)
= 1 Umr4i—r T @i+1,2 Qi,1,Ai—1,1, - - - 7a1+2,1) Umr+i—r—1-

Now by the definition of the sequence, since mr +i — 2r + 2 = i + 2 (mod r), we
have

Qi42 2Umr+i—2r = Umpr4i—2r4+2 — @42 1Umr4+i—2r+1

= K () Umr+i—2r42 — K (ai+2,1) Umr+i—2r41-



INTEGERS: 13 (2013) 9

Multiplying the above equation by a;3 2, substituting

Ai43,2UVmr+i—2r4+1 = Umr+4i—2r4+3 — @343, 1Vmr4i—2r42
in the above equality and arranging it, we obtain
@i42,20i+3,2Vmr+i—2r
Ai+3,2VUmr+i—2r+2 — @i4214i4+3 2Umr+i—2r+1
—K (ai42,1) Vmrti—2r+3 + (@i42,10i+31 + Qi43.2) Umrti—2r+2
= —K(ai12,1) Vmryi-2r43 + K (ai43,1, Git12,1) Vmrti—2r42-

If we proceed in this way, we get

ait2.2Vmrti—2r = K () Umrticort2 — K (@i42.1) Vmr+i—2r41
A;42,20i43 2Vmr4+i—2r = —-K (ai+2,1) Umr4i—2r+3
+K (@i43,15Qi42,1) Umrti—2r+2
i42,20i4320i4+4 2Vmr4i—2r = K (ai+3,1, ai+2,1) Umr4i—2r4+4

—K (Qiqa,1,0i43,1,0i42,1) Umrti—2r+3

and so on up to

ai+2,2ai+3,2 “e ai+r,2”mr+i72r
.,
= (=1)"K(ai—1,1,@i-2,15- - Qi+3,1,Qi42,1) Umrti—r
r+1
+ (1) K (a1, @io1,15 -5 @ig3,15Gig2,1) Vmrti—r—1-

Multiplying the last equation by (—1)" a;11.2, reducing the first subscript of the
coefficients a; ; modulo r and rearranging the expression, we get

r
(=1)" ap2a1,2a2,2 - . - r—1 2Vmrti—2r (5)
= aiy12K (ai-1,1,0i-271,.,0i431,0i42.1) Vmrti—r
—0it12K (@i1,0i-1,1,- 505431, Gi21) Vmrgi—r—1

(7)
= ai+1,2K2 Umr+i—r
—aip12K (@i1,0i-1,1, ., 0i13,1,Qi42,1) Umprti—r—1- (6)

Let n = mr + 4; summing (4) and (6), we get
Up = (Kl(i) + a1,2K§i)) Vp—r + (=1)" T (a0 2a1,2a2,2 . . . @r—1,2) Vn—2-.

By Theorem 4, we get the result. |

3. The Generating Function of the Sequence {v,}

The generating function for {v,} is

G(z) = i U™
m=0
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If we define ,
Gi (:C) = var+ixmr+i, 1=0,1,...,r—1,
m=0
then we can write )
—
Gla)=) Gila). ()
i=0
Theorem 6. The generating function of the sequence {v,} is

S (i + (vpgs — Avg) 27H)

G =
() 1— Az" + (—1)" Ba?" ’
where )
A=K+ UJLQKQ and B = H a; 2.
1=0

Proof. Multiplying G; (x) by 1 — Az" + (—=1)" Bz*" for i = 0,...,r — 1 and using
Theorem 5 and Theorem 25.5.1 in [1], we get for i =0,1,...,r — 1,

0xt + (Vg — Avy) 2"t

Gilw) = 1— Az" + (=1)" Ba?r ~

(®)

Hence, using (7) we get the desired result. O

Example 7. For r = 3, the sequence {v,} satisfies vo = 0,03 = 1 and for n > 2

ao,1Vn—1 + Qg 2Un—2, if n =0 (mod 3),
Up = ¢ Q1,1Un—1 + G1,2Un—2, if n =1 (mod 3),
A2,1Vn—1 + G2 2Vn_2, if n =2 (mod 3).

Let us find the generating function of the sequence {v,} for the given integer r = 3.
Since r = 3, using Definition 1 we have

Ky = K(ap1,a21,01,1) =a11K (ap1,a21) + a2 2K (ap1)
= a1, (a2,1K (ao,1) + a0 2K () + az22K (ap1)

= ap,101,102,1 + Gp,201,1 + Gg,102,2,

and
Ko =K (a21) =a2.1.

Thus, we have
A=K+ a12Ks = ap,101,102,1 + a0,201,1 + 00,102,2 + a1,202,1-
By Theorem 6, we get

Z?:o (’Ui.%‘i + (v34; — Av;) x?’“)
1— Az + (—1)3 Bab )

G(z) =
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Since vg = 0, v1 = 1, va = ag,1, V3 = A0,102,1 + G0,2, V4 = A0,101,102,1 + G0,201,1 +
_ 2 2

ay1,2a2,1 and vs = (0,101,105 1 + G0,201,1042,1 + A1,205 1 + A0,102,102,2 + dg,2022, We

finally obtain

2 3 4 5
G (:)3) o T+ ag12” + (a071a271 + (1072) T° — ap,102,22" + a072a272x"
1 —(appa1,102,1 + Go2a11 + Go,1G2,2 + a1 2021) T3 — ag 201,202,228

4. The Extended Binet’s Formula of the Sequence {v,}

By Theorem 5, we can consider the conditional sequence {v, } as a constant coeffi-
cient 2r-order linear recurrence for any positive integer s. So, we can find the matrix
representation of the sequence {v,} and we can use methods for linear recurrences
to obtain the extended Binet’s formula for the conditional sequence {v,, }.

Let us define the 2r x 2r matrix

0 10 ... 0 0 0
0 0O 1 ... 0 ... 00
0 00 .. 0 .00

N = ,
0 0 0 ... 0 ... 01

()T Zgaia 0 0 ... (Ki+aisKs) ... 0 0|

where K; + a1 2K is the entry in the (2r)-th row and (r + 1)-th column. In fact,
N is the companion matrix for the polynomial

r—1
q(z) =2 — (K1 + a12K>) 2" — (-1)" H a;2.
i=0

The polynomial ¢ (z) is the characteristic polynomial of N. By using an inductive
argument, we can give the matrix representation of the conditional sequence {vy, }:

Vo Un
U1 Un+1
N , = . : 9)
V2r—1 Un4-2r—1

This matrix representation is important since it may be used to derive many inter-
esting properties of the conditional sequence {v,,}.

Let pq, p2, - - ., o, be the eigenvalues of the matrix N. Let us assume that the
polynomial ¢ () has no multiple roots, so these eigenvalues are all distinct. In this
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case, N can be diagonalized using the Vandermonde matrix

1 1 ... 1 1
H1 M2 cee M2r—1 M2r
2 2 2 2
V(pa, pi2 - -y o) = M My e Hop_1 M2
T UV S A

We can give the following theorem using the matrix methods in [9].

Theorem 8. Assume q(x) has roots pi, fia, . . ., tio, and also assume the polynomial
q () has no multiple roots. Then, the Binet-like formula for the conditional sequence

{un} is v, = Zf;l ﬁg,), where ¢'is the derivative of q.

We can also give the following general extended Binet’s formula for the sequence
{v,} independent of whether ¢ (z) has multiple roots or not.

Theorem 9. The terms of the sequence {v,} satisfy

r(m41) a™ — ﬁm CYm—l _ ﬁm_l ‘

Umr+i=(—1) WUTH_B a—3 Vil ,
where
-1 A A2 —4(-1)"B 1) A—\/A2 —4(-1)"B
0n CUASVETICNE |,y o (W A-VPZICE

that is, o and (3 are the roots of the polynomial p(z) = 22 — (=1)" Az + (-1)" B,
where A=K+ a1 2Ky and B = H:;é a;o.
Proof. By (8), the generating function for the subsequence {vy,,+i} is given by
0zt + (Vg — Av;) 2"t

1— Az" + (—=1)" Bz~

Using the identities o + 3 = (=1)" A, a — 8 = /A2 —4(-1)" B, a8 = (-1)" B,
(—1)" Aa™ — a™*! = Ba™ and (—1)" AB™ — BT = aB™, we get

Gi (z) =

0;xt + (Vg — Av;) 2"t

Gilo) = 1— Az" + (—1)" Ba?"

2 [v; + (vppi — Av;) 27 o 8
a—p 1— (- az"  1—(=1)" Bar
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_ l‘i ['Ui + (Ur+i . Avi) .%'T] i (_1)mr (aerl _ ﬂerl) mr

m=0 O[*ﬂ
il D™ (@ - v
= €T X
=S
o) (_1)mr (am-i-l _ /Bm+1) ('UrJri _ Avi) by
> " '
i — (=)™ (™ =g )
= x |v;+
2
ras (D™ (@™ = B™) (v — Avy)
71 mnr
+(-1) m; o x
_ i = mr » (@™ —3™)
= z vi+mZ:1(—1) [(_1) Ta—pg Ut
(=1)" Aa™ — ™) — ((=1)" Ap™ — pmH1) 1 mr+i
— Oz—ﬂ Vi| T
o > mr r (am - 6771) Bam B aﬁm mr+i
= mZ::o(_l) [(_1) a—_ﬁvrﬂ'—a—_ﬁvi z
0o m m m—1 m—1
_ _1 mr—+r (a _B ) o a _ﬁ . mr—&-i.
mzo( ) [7065 Vpti Bia—ﬂ vi|
Thus, we obtain
__qyromn [@M =BT pa™ T gt
Umrti = (—1) [ P Upti — B P vil .
O
Corollary 10. If we take the values app = a12 = -+ = ar—1,2 = 1 in the se-

quence {v,} we get a special case the k-periodic Fibonacci sequence in [3]. Also,
substituting B =1 in Theorem 6 and 9, we get Theorem 13 and Theorem 16 in [3],
respectively.

5. Conclusion

In this paper we consider the Fibonacci-like conditional sequences {v,} as given
in Equation (1). We define the concept of generalized continuant and use it to
show that {v,} satisfies a linear recurrence relation. We also derive generating
functions, matrix representations and extended Binet’s formulas for {v,, } in terms of
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the generalized continuant. It would be interesting to find more useful applications
of the generalized continuant and generalized fractions.
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